1. The cross-section of a bar is

2.

3.

4.

subjected to a uniaxial tensile
stress p. The tangential stress
on a plane inclined at 0 to
the cross-section of the bar
would be

a. Psin 20/2
b. Psin 28
c. Pcos20/2
d. Pcos 28

Consider the following statements :

1. On planes having maximum and
minimum principal stresses. There
will be no tangential stress.

2. Shear stresses on mutually
perpendicular planes are numerically
equal.

3. Maximum shear stress is equal to
half the sum of the maximum and
minimum principal stresses.

Of these statements

a. 1,2and 3 are correct

b. 1and 2 are correct

c. 2and 3 are correct

d. 1and 3 are correct

In a stressed body, an elements cube of
material is taken at a point with is forces
perpendicular to x and y reference axes.
Tensile stresses equal to 15 kN/em? and 9
kN/em? are observed on these respective
forces. They are also accompanied by shear
stresses equal to 4 kN/cm? the magnitude of
the principal stresses at the point are

a. 12 kN/cm? tensile and 3 kN/cm? tensile

b. 17 kN/cm? tensile and 7 kN/cm? tensile

¢ 9.5 kN/cm? tensile and 6.5 kN/cm? tensile

d. 19 kN/cm? tensile and 13 kN/cm? tensile

In a rectangular element
subjected to like principal tensile
stresses p, and p, in two mu
perpendicular directions x 3
the maximum shear stress
occur along the

a. Plane normal to x-axis
2 al to x-axis

2 y-direction
-direction

50
55
60
70

6. At a point in a strained material, if

two mutually perpendicular
tensile stresses of 2000 kg/cm?
and 1000 kg/cm? are acting, then
the intensity of tangential stress
on a plane inclined at 15 to the
axis of the minor stress will be

a. 125 kg/cm?
b. 250 kg/cm?
¢. 500 kg/cm?
d. 1000 kg/cm?

. The minor principal

stress and its inclination with
direction of load will be

a. P/Aand45°

b. 2P/A and 45°

. P/2A and 45°

. P/A and 60°

11. A bar of square cross-section, having

an area of cross-section ‘A’ is subjected
to a compressive force ‘P’ as shown in

the figure
- Oblique plane

12. The radius of mohr’s circle is zero

when the state of stress is such that

a. Shear stress is zero

b. Thereis pure shear

c. There is no shear stress but identical
direct stresses

d. Therei ear stress but equal

i esses, opposite in

d body are 150
e and 50 kN/m?
then maximum

. 250 kN/m? f

5. In the mohr’s circle for

strains , radius of mohr’s
circle gives the

a. Minimum value of normal
strain

b. Maximum value of normal
strain

¢. Maximum vale of shear
strain

d. Half of maximum value of
shear strain



